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MODEL QUESTION 
FOR 

MATRIC EXAMINATION 
SUBJECT–SCIENCE 

SET-IV 
Physics 

1- fdl izdkj ds ysUl esa flQZ vkHkklh izfrfcUc curk gS\ 01 

In which type of lens only virtual images are formed ? 
2- fdl o.kZ ds izdk’k dk rjaxnSO;Z vf/kdre gksrk gS\  01 

Which colour of light has the longest wave length? 
3- ,d yasl dh {kerk $ 2 D gSA ;g ysal fdl izdkj dk gS\ 01 

The power of a lens is + 2 D. What type of lens is it ? 
4- fo|qr cYc dk fQyk esUV fdl /kkrq dk cuk gksrk gS\  01 

The Filament of electric bulb is made of which element? 
5- ck;ks xSl dk eq[; ?kVd D;k gS\  01 

What is main component of bio-gas ? 
6- jsyos ds flXuy dk izdk’k yky jax dk gha D;ksa gksrk gS\ 02 

Why the signal of railway is of red colour ? 
7- ukfHkdh; fo[kaMu vfHkfØ;k D;k gS\   02 

What is nuclear fission ? 
8- nwj nf̀”V nks”k D;k gS\ bls nwj djus ds fy, fdl ysal dk O;kogkj fd;k tkrk gS \ 03 

What is hypermetropia? Which lens is used as its remely? 
9- thok’e baZ/ku D;k gS\ mnkgj.k lfgr fy[ksaA  03 

What are fossil fuels? Write with example. 
10- Js.kh Øe eas la;ksftr rhu fofHkUu eku ds izfrjks/kksa ds lerqY; izfrjks/k ds fy, O;atd izkIr djsaA 05 

Find expression for equivalent resistance of three different value resistances 
grouped in series? 

Chemistry 

11- dkWij ¼II½ lYQsV dk vkf.od lw= fy[ksaA 01 

Write down the mole cular formula of copper (II) sulphate. 
12- ,Fkhu dk lajpuk lw= fy[ksaA 01 

Write down the structure formula of Ethene. 
13- ,Y;qfefu;e /kkrq ds ,d v;Ld dk uke ,oa vkf.od lq= fy[ksaA 01 

Write down the name and molecular formula of an ore of aluminium? 
14- vkWDlhtu vkorZ lkj.kh ds fdl vkorZ esa gSA 01 

Oxygen is present in which period of peroidic table. 
15- iksVSf’k;e dk ijek.kq la[;k fdruk gSA 01 

What is the atomic number of Potassium. 
16-  PH D;k gSA mnklhu ;kSfxd dk PH fdruk gksrk gSA 02 

What is PH? What is the PH of neutral compound? 
17- lwpd D;k gS\ ,d lwpd dk uke fy[ksaA 02 

What is Indicator? Write down the name of an Indicator. 
18- ltkrh; Js.kh D;k gSA ,d mnkgj.k ds lkFk Li”V djsaA  03 

What is Homologous series? clearify this with a suitable example. 
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19- fuEufyf[kr rRoksa dk bySDVªkWfud foU;kl fy[ksaA 03 

¼1½ lksfM;e ¼2½ dSfYl;e ¼3½ Dyksjhu 

Write down the electronic configuration of the following element 
(1) Sodium (2) Calcium (3) Chlorine 

20- ,Y;qehfu;e /kkrq dk fu”d”kZ.k dSls fd;k tkrk gSA 05 

How alumunium metal is extaracted? 

Biology 

21- fdlh ,d ikS/ks dk uke fy[ks ftlesa ifŸk;ksa }kjk dkf;d izca/ku gksrk gS\ 01 

Write the name of plant which has vegetative propagtion takes place by leaf? 
22- ekuo ‘kjhj esa lcls cM+h xzfUFk D;k gS\ 01 

What is the largest gland of human body? 
23- es.My ds iz;ksx ,d ladj ladj.k ls izkIr ley{k.kh ,oa lethuh vuqikr D;k gS\ 01 

What is this Phenotypic and genotypic ration of monohybrid gass of mendal? 
24- jDr ds fofHkUu vo;oksa dk uke fy[ksa\ 01 

Write this following components of blood? 
25- ikfjra= fdls dgrs gS\ 01 

What is Ecosystem? 
26- jDr D;k gS\ euqo; esa ‘osr jDr d.k dh la[;k fdruh gS\ 02 

What is blood? Write the number of WBC in human blood? 
27- eNyh] eNj] dsNqvk vkSj euqo; ds eq[; ‘olu vaxksa dk uke fy[ksa\ 02 

Write the names of main respriatang organs of fish, mosquito, earth warm and 
man? 

28- mRltZu D;k gS\ blds nks izeq[k vaxksa dk uke fy[ksa ,oa o.kZu djs\ 03 

What is Eccreation? Explain the two major organs of is. 
29- ‘olu ds fy, vkWDlhtu izkIr djus dh n’kk esa tyh; tho dh vis{kk LFkyh; tho fdl izdkj ykHkizn gS\ 

03 

For resperation taking of oxygen is more benefied organium then asuatie 
organism. 

30- euq”; esa ikpu fØ;k dk o.kZu djsa\ 05 

Explain the  mechanism of digestion in human? 
    vFkok 

euq”; ds eknk tud rRo dk o.kZu djsaA 

Explain the female Reproduction system of human? 

Physics Objective 

31. 
¼i½ xksyh; niZ.k esa Qksdlkarj ,oa oØ;k f=T;k ds chp laca/k gS 01 

¼a½ 2 ƒ =r ¼b½ ƒ = r ¼c½ 
�
�

= r ¼d½  ƒ = 
�
�

The relation between focal lenght and centre of curvature of a spherical mirror 
is.  

(a) 2 ƒ =r (b) ƒ = r (c) 
�
�

= r (d) ƒ = 
�
�
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¼ii½ fdlh ek/;e ds viorZukad � dk eku gksrk gSA 01 

¼a½ mŸky niZ.k ¼b½ lery niZ.k ¼c½ vory niZ.k ¼d½ bues ls dksbZ ugha 
The value of refractive index of a medium � is. 
(a) sin r (b) sin i (c) sin i x sin r (d) sin i + sin r 

 sin i  sin r 

¼iii½ fo/kqr /kkjk mRiUu djus dh ;qfDr dks dgrs gSA 01 

¼a½ tfu= ¼b½ xSycuksehVj ¼c½ vkehVj ¼d½ oksYVehVj 

The apparatus used to produce electric current is. 
(a) Generator (b) Galvanometer (c) Ammeter (d) Voltmeter 

¼vi½ Mk;ueks ls fdl izdkj dh /kkjk izkIr gksrh gSA 01 

¼a½ fn”V /kkjk ¼b½ izR;korhZ /kkjk ¼c½ nksuksa /kkjk;s ¼d½bues ls dksbZ ugha 

What type of current is obtained from a dynamo. 
(a) Direct current     (b) Alternating current 
(c) Both type of current (d) None of these. 

¼v½ fo/kqr ‘kfDr dk  S.I ek=d gSA 01 

¼a½ oksYV ¼b½ fdyksokV ¼c½ twy ¼d½ dwyac 
 

S.I unit of electric power is? 
(a) Volt  (b) Kilo watt (c) Joule (d) coulomb 

¼vi½ fdlh pkyd ds izfrjks/kdrk dk ek=d gS\ 01 

(a) Ω��     (b) Ω − �  (c) �
�

 (d) None of these 

The unit of resistivity of conductor is? 
(a) Ω��     (b) Ω − �  (c) �

�
 (d) None of these 

¼vii½ tc fdlh pkyd rkj ls fo/kqr /kkjk izHkkfor gksrh gS rks xfr’khy d.k gSA 01 

¼a½ ijek.kq ¼b½ vk;u ¼c½ izksVkWu ¼d½ bysDVªkWu 

The moving particles in a conductive wire carring electric current is. 
(a) Atoms        (b) Ion  (c) Protons (d) Electrons 

CHEMISTRY 

31- ¼viii½ phuh dk vkf.od lw= D;k gSA 01 

(a) CH3C00H        (b) CH3CHO  (c) C6H12O6 (d) C12H22O11 
What is the molecular formula of sugar? 
(a) CH3C00H        (b) CH3CHO  (c) C6H12O6 (d) C12H22O11 

¼ix½ flYoj vk;ksMkbM dk jax dSlk gksrk gSA 01 

¼1½ ihyk ¼2½ mtyk ¼3½ gjk ¼4½ uhyk 

What is the colour of silver Iodine. 
(a) Yellow        (b) White (c) Green (d)Blue 

¼x½ fdl /kkrq ds pkdq ls dkVk tk ldrk gSA  01 

¼1½ lksfM;e ¼2½ yksgk ¼3½ dSfYl;e ¼4½ lksuk 

Which metal can be cut down by Knife. 
(a) Sodium        (b) Iron (c) Calcium (d) Gold 

¼xi½ Xyqdkst dk vkf.od lw= D;k gSA 01 

(a) C6H12O6        (b) CH3COOH  (c) CH3CH0 (d) CHCl3 
What is the molecular formula of glucose? 
(a) C6H12O6        (b) CH3COOH  (c) CH3CH0 (d) CHCl3
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¼xii½ Xykscy okfeZax ds fy, dkSu lk xSl mrjnk;h gS\  01 

(a) CO2        (b) O2  (c) NH3 (d) N2 
Which of the following gas is responsible for global warming? 
(a) CO2        (b) O2  (c) NH3 (d) N2 

¼xiii½ fo/kqr cYo dk rarq fdl /kkrq dk cuk gksrk gS\ 01 

¼1½ yksgk ¼2½ VaxLVu ¼3½ rk¡ck ¼4½ lksuk 

The filament of electric bulb is made up of which element. 
(a) Iron       (b) Tungsten (c) Copper (d) Gold 

¼xiv½ C00H fØ;k’khy ewyd dk D;k uke gSA 01 

¼1½ dkcksZfDlfyd vEy ewyd ¼2½ ,Ydksgfyd ewyd ¼3½ fdVksu ewyd ¼4½ mFkj ewyd 

What is the name of- COOH functional group. 
(a) Carboxydic acid  group (b) Alcoholic group (c) Kitone group (d) Ether group 

Biology Objective 

¼xv½es.My us vius iz;ksx esa fdl ikS/ks dk p;u fd;k\ 01 

¼d½ eVj  ¼[k½ lse   ¼x½  puk   ¼?k½ lHkh 

Which plant is selected in mendal experiment. 
(a) Pea       (b) Beam (c) Gram (d) All of these 

¼xvi½nks raf=dk dksf’kdk ds e/; [kkyh LFkku dks dgrs gS\ 01 

¼d½ nqzfedk  ¼[k½ flusfVd njkj  ¼x½  ,Dtku  ¼?k½ vkos’k 

The two juction of neuron is called. 
(a) Dendritis      (b) Synapes  (c) Axan    (d) Impulse 

¼xvii½,d fyaxh iq”i ds mnkgj.k gS\ 01 

¼d½ iihrk  ¼[k½ ljlksa   ¼x½  mM+gy   ¼?k½ bues ls dksbZ ugha 

Which of the following has an example of unsexual flower. 
(a) Papaya      (b) Mustard (c) Chunarose (d) None of  these 

¼xviii½fdVks ds ia[k vkSj pexknM+ ds ia[k fdl rjg ds vax gSA 01 

¼d½ letkr vax  ¼[k½ vo’ks”kh vax   ¼x½  leof̀r vax  ¼?k½ buesa ls dksbZ ughaA 

Features of Insect and features of bats which type of organ? 
(a) Homologous organs  (b) Vestigial organs (c) Analeges organs (d) None of these. 

¼xix½euq”; ds lkal ysus vkSj NksM+us dh fØ;k dks D;k dgrs gS\ 01 

¼d½ ‘oklksPNkokl  ¼[k½ ‘olu   ¼x½  fu%’olu   ¼?k½ mRltZu 

Inspiration of organs and expiration of Co2 is called. 
(a) Breathing      (b) Respiration  (c) Inspiration   (d) Excreation 

¼xx½xq.klw= dgk¡ ik;s tkrs gS\ 01

¼d½ dksf’kdk  ¼[k½ mrd   ¼x½  dsUnzd   ¼?k½ lHkh 

Where accures chromosom? 
(a) Cell       (b) Tissue (c) Nucleus (d) All of these 
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